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Ch 4 Practice @Qi{® ‘
For the following problems list the transformations, find the equations of the asymptotes, find the domain, range
and sketch a graph.
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Find the equations given the following graphs.
3 A 4 T
! v 5 )
<K . MERS
< % ? J
IRanuyE I s s nn i A NERN
3 -3 ] 6 x - B { TOINLG x SD’Z
< N >
5 NIPE .
L2
b ovurx-0udS 4
AN \ o~ 4 ~F
X—\
2 51 X XL R\ ,
5.Use f(x)= xz—; to find the following pieces of the graph. f
2x° -11x+12
0C= 29 ¢-8 -3 .
a. Vertical Asymptote(s): = Ak . b. Horizontal Asymptote:
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c. X-intercept(s):
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6. Use long division to rearrange the following equation & then graph it using transformations. g(x) = )

4.2“ T /K
X2\ i
,_\ D 12 AN

~N
8 T~
2 —
e g
e i
y= 2 s = ~
X—2 ¢ ~ ) i’
N
N\
41—\

Q

&

<
":___—-'—"-—"‘
o
AN

7. Find all the key pieces of f(x) = & +15 then graph the function.
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a. Vertical Asymptote(s):
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 this equation find the following pieces of information: f(x)= —Z—ZJ;LIE
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9. Use long division to graph the following function: f(x)= -
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